

Name : OKPA Kelechi Michael

Matric NO: 19/MHS01/325

Department : MBBS

Course Code : MAAT 102

1)  $y - 3x - 2 = 0$  and  $3y + x + 9 = 0$

~~set~~ Solution

$$y - 3x - 2 = 0$$

$$3y + x + 9 = 0$$

For the lines to be perpendicular then  $m_1 m_2 = -1$

$$y - 3x - 2 = 0$$

making  $y$  the subject of the formula

$$y = 3x + 2$$

$$y = 3x + 2$$

By comparison with  $y = mx + c$

$$m_1 = 3$$

$$3y + x + 9 = 0$$

making  $y$  the subject of the formula

$$3y = -x - 9$$

$$y = \frac{-x - 9}{3}$$

$$y = \frac{-1}{3}x - 3$$



$$y = mx + c, \quad m_2 = -1/3$$

$m_1 m_2 = -1$  for perpendicular

~~3x~~  $3x - 1/3 = -1$ , since  $m_1 m_2 = -1$

Take the line  $y - 3x - 2 = 0$   
and  $3y + x + 9 = 0$  are perpendicular.

2  $3y - 4 = 2x + 3$

$y - 5 = x + 6$

Let A equals  $3y - 4 = 2x + 3$

$$3 \frac{dy}{dx} - 0 = 2 + 0$$

$$3 \frac{dy}{dx} = 2$$

$$\frac{dy}{dx} = 2/3$$

Let  $b = y - 5 = x + 6$

$$\frac{dy}{dx} - 0 = 1 + 0$$

$$\frac{dy}{dx} = 1$$

∴ A ≠ B

i.e.  $3y - 4 = 2x + 3$

and  $y - 5 = x + 6$

is non perpendicular.



$$3) \quad x^2 + y^2 + 3y - 11 = 0 \text{ at Point } (1, 2)$$

$$2x + 2y \frac{dy}{dx} + 3(2x) + 3y - 0 = 0$$

$$2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$$

$$2y \frac{dy}{dx} + 3x \frac{dy}{dx} = -2x - 3y$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$m = \frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

When  $x = 1$  and  $y = 2$

$$m = x = 1 \text{ and } y = 2$$

$$m = \frac{-2(1) - 3(2)}{2(2) + 3(1)}$$

$$= \frac{-2 - 6}{4 + 3}$$

$$m = \frac{-8}{7}$$

$$4 + 3 = 7$$

$$m = \frac{-8}{7}$$

Equation of the tangent to a curve

$$y - y_1 = m(x - x_1)$$

$$y - 2 = \frac{-8}{7}(x - 1)$$

$$y - 2 = \frac{-8}{7}(x - 1)$$



$$y - 2 = -8x + 8/7$$

$$7y - 14 = -8x + 8$$

$$8x + 7y - 14 - 8 = 0$$

$$8x + 7y - 22 = 0$$

b) Equation of the normal to a curve

$$y - y_1 = \frac{-1}{m} (x - x_1)$$

$$y - 2 = +1/8 (x - 1)$$

$$y - 2 = 1/8 (x - 1)$$

$$8y - 16 = x - 1$$

$$8y = x - 1 + 16$$

$$8y = x + 15$$

$$7x - 8y = 0$$